5.1 Systems of Equations Homework
Solve by Graphing
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(What is a solution for a system?)
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(Suppose the equations are 
                                           and 
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R =45x
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Solve each system by graphing.
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Match the system of linear equations with the corresponding graph.
Use the graph to estimate the solution. Check your solution.
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Use a graphing calculator to solve the system of linear equations.
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1) y=6x-11 2) 2x-3y=-1
-2x-3y=-7 y=x-1

3) y=-3x+5 4) -3x-3y=3
Sx—4y=-3 y==5x-17
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What does it mean to solve a system of equations?
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You graph a system of linear equations, and the solution appears
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to be (3, 4). How can you verify that the solution is (3, 4)?
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Use a table to find the break-even point. Check your solution.
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C=124x+80
R=44x
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